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Yelocity vs. Time
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide
(a) Written description of the motion

(b) Construct a particle model

(c) Calculate the acceleration

(d) Calculate the displacement
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide
(a) Written description of the motion 4un g,wl-ﬂddw'\.
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide
(b) Construct a particle model
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For the time intervals: 0-1s, 1-4s, 4-9s, aMrevide
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide
(d) Calculate the dlsplacement

Ap=d 5 b h'“(iﬂ('—camrﬁ 20m
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide
(d) Calculate the displacement

A= lo-h = (3o msT)= 120n, .
A =% b. h———(%&)(@@ms*> DO,
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide

(d) Calculate the displacement ,
A=dyh =J?:(Ss)(t06m s*>z.
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For the time intervals: 0-1s, 1-4s, 4-9s, and 9-14s provide

(d) Calculate the displacement
A=Lbh =4S -ooms )




(e) Position-Time Graph
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